11
3 x 52

@ n

63
222 %w3xT

@ 1.415



)

13
14

10 |00



& 2% o,

N

o
)

file)
N
[mi
Wl
0|
VI

\1
— O

@ 0.5 ® 0.6

@D 0.2



Pl e ol 1) 4) ok

o
vheh 4 91et,

@ #

® 0O, ONGNC)

ORON®

® A, 0.6

@ (A, 0, ®



@ x6y3 @ x7y5 @ x8y6 @ x12y6

@ x4y5



Il Il I
< s O

.

~ I~ I~



|
Q
S
w
X
[
<
S
i
N
L
ol
e

AOR &

rlo

A7

@D 2a2p* @ 3a3p* B 2a3bt @ 343 0B 2a3h°






g Aol A x? o] Al

@ -17 ® 0

£ a, x9



10. & T &gutdE HiEs] Ze 227
@ 0.3333---, 33 @ 0.454545- -+, 45
® 0.252525---, 252 @ 2417417417+, 174

B 2.145145---, 214



11. =<

rel
9
8o
R
(o]

8

o o
o 7129

® 0.121212--- =0.12

@ 0.405405--- = 0.405
(3 1.234234... = 1.934 @ 1.06666--- = 1.06
3 —2.5555... — —92.5



12. x =238 o]zt & uf, 100x — x 9| ZL-& F3hodzt.

YR
-



13, (4x3y)? + (=2xy)? + 4x3y? & 7Fh3]

eks] @ AL
© = 2
= @ 2xy ® —2x?%
2
@ 2x2%y ® —2xy



14. (8x3)2)2 = (-ax2y)3x[  |=3y<d [ et Sz 45
wgofal,

YEE
=%



15. (2x-y)(3x + 5y) S Z7HstH?

D 5x% - 3xy - 5y? @ 5x + 10xy — 5y2
® 6x% - 3xy — 5y? @ 6x% + Txy — 5y?

® 6x2 + 10xy — 5y



16.

x(x41)(x=2)(x—3) 2] AN A x? O] Ao} AF43E] 9

ofzt.

B
=¥



17.
2x+ 3y =x—-y+1 & x o ¥olo] Eojzt

Be=



18. a=x-19 W, 3x+a+ 1 aof TSHA OS2 JeRHH?

D a+2 @ 4a-1 @ 4a

@ 4qg+3 B 4a+4



22T o) 2re atolat,
19. 2x+y):(x-2y)=3:1¢ o, xi—y—q

S EER
5'7



20.

== B, x & ot

T

x o 1.46 & FofloF & AL 4
=l 271 0.46 ©] =]

% M
o)

e
-




ol
ol
o8
olg
Ko

oln

® o+
- a :613

B o + a2
a®+ad?+a?=a*

@yQ. 3
- 5
3 xy® =yt



A . x o] A47H

Fatelet,

a® %

St (x—a)(3x +5)

2 olgs
ofu] 44

1

A
&l

ey
T 0
Ho =



23. (ax—6y)? =25x% +bxy+cy? & W, a+ b+ c 9 G Fotol2h(H,

a>0)

e =
-



24.

A B olgsto] theL Adstu?

511 x 511 - 510x 512 -2

D -2 ® -1 3 0 @ 1




@D 3xy? @ -3x3y @ —4x?



26.

(3x—2y+4z)(2x+2y-4z) &

#e?

%l

okd& W, xy,yz, zx 2F2 ] A4

D 14 ® 16 A 18 @ 20 B 22



